3 1
= BFEYYA—IEEC| FrLoPy—X BAZO—X
mFEYvh—ILEC 4*0 0*8 3 4 -4 2
FyloPry—X 0*4 0*10 o 0 -14 3
BA#O0—X 8*0 10*0 6 18 18 1
BJ O FCUAH—ILA BHTEEESCHRI A+ | BT EYvH—IEIEA
FCYH—ILA 3*4 4*1 3 7 2 2
EEtlESCHRI A+ 4*3 1*1 4 5 1 1
AT EYYH—LEA 1*4 1*1 1 2 -3 3
u FCHEESH FFrIL—+A rUTV6E
FCHEESH 0*0 2*2 2 2 o} 2
F+IL—+FA 0*0 2% 2 2 0 3
rUTV6E 2*2 2*2 2 4 0 1
DT O BAIO—X BATFC 6%4B | FEIYvyh—oU5TA
BAITO—X 3*0 0*4 3 3 -1 2
BATEFC 6348 0*3 0*8 0 0 -11 3
EIYyh—o5TA 4*0 8*0 6 12 12 1
] 7 )7 YBE BA O—X BATEFC 6% 4FA
JrUTYSE 3*1 0*7 3 3 -5 2
BACO—X 1*3 0*4 0 1 -6 3
BATEFC 6 4FA 7*0 4*0 6 11 11 1
= F+JL—+B mAFEYvh—ILEB FCHEERE
F+JL—+B 3*1 0*3 3 3 -1 2
mATFEYvh—ILEB 1*3 1*4 0 2 -5 3
FCHEE 3*0 4*1 6 7 6 1
u ENYvh—s57B | BTE+LIESCT IL— FCAH—ILR
EINYvyh—-r5TB 1*3 1*3 0 2 -4 3
BTEtlEscIL— 3*1 0*4 3 3 -2 2
FCYH—ILR 3*1 4*0 6 7 6 1
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